
SAP ABAP table /DSD/DE_RADS_S {Tour Distances}

_DSD_DE_RADS_S

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

DISTTYP [CHAR (2)]

UOD [UNIT (3)]

_DSD_HH_RADISTYP

CLIENT [CLNT (3)]

DISTTYP [CHAR (2)]
 /DSD/DE_RADS_S-DISTTYP = /DSD/HH_RADISTYP-DISTTYP 

0..N

1

_DSD_HH_RAHD

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

 /DSD/DE_RADS_S-TOUR_ID = /DSD/HH_RAHD-TOUR_ID 
0..N

1

T000

MANDT [CLNT (3)]

 /DSD/DE_RADS_S-CLIENT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 /DSD/DE_RADS_S-UOD = T006-MSEHI 

0..N

1


